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R? = P?2+ Q% — 2PQcosB
R=P+Q

b oy el @
sin A4 sinB_sinC
Q R P
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Q=60N

P=40 N




LQ)‘O){ : Jg‘ L}.«a&
-

o 94.».».«.5 did )
R? = P2 + Q2 — 2PQ cos B ORI
O = 60 N = (40N)2 + (60N)2 — 2(40N)(60N) cos 1 55°=9550— R = /9550
R =97.73N

sin4A sinB

0 R

gl

Sin Sin RN

= sin155°—=2 __0.25
97.73N

A =sin"10.25 = 15°
a=20°4+A=20+15

a = 35°
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R, =P.+0Q,+S, Ry=Py+Qy+Sy

=2Fx :sz

Ryl+ RyJ =P i+ PyJ+ Qi+ Qyj + Sl + Sy]
=P+ Qx + ST+ (P, + 0, +5))]

R
R = /R,% +R)  f=tan'=>
X
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F,=80 N
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(F3 cos 20°)j

E\A (F, sin 30°)j

|
| |
| : force mag X —comp y — comp
» (1 cos 3093 | i 150 +1299 +75.0
—(Fy sin 20°)i ' e F, 80 —27.4 +75.2
B P 1~:3 110 0 —110.0
Fy 100 +96.6 —25.9
Y-F;j
R =+/199.12 + 14.32 R =199.6N
t 14.3N "e
= a = 4.
A= 199.1N
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Fyp _ Fge _
gind5  sin30  sinl05
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1000N

Fig  Fge 1000 1 gt 538 3.1
sin45 sin30 sin105

Fug 1000 1000sin45
. = R - FAB = - . =
sin45 sin105 sin105

= F,p = 732N

—— e e M 1

Fpe 1000 1000sin30
; =— > Fpe=——77—
sin30 sin105 sin105

- FBC = 517.6N
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https://fa.wikipedia.org/wiki/%DA%A9%D9%85%DB%8C%D8%AA_%D9%81%DB%8C%D8%B2%DB%8C%DA%A9%DB%8C
https://fa.wikipedia.org/wiki/%DA%A9%D9%85%DB%8C%D8%AA_%D8%A8%D8%B1%D8%AF%D8%A7%D8%B1%DB%8C
https://fa.wikipedia.org/wiki/%DB%8C%DA%A9%D8%A7
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2m F, =600 cos 40°

S
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4m ( A

Fy = 600 sin 40°

[ g
O

M=600c0s40x4+600sin40x2=2610N.m
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1. Plane truss
Weight of truss P
assumed negligible P
compared with P y
|
|
A, —= L x
b4, 15,
2. Cantilever beam v
F 3 F 2 F 1 F 3 F 2 Fi
| Y L
| 7 | I
| A Mass m M { ‘T
W= '
mg L.
3. Beam _4 A
Smooth surface M M
contact at A.
Mass m
7 vy
P — P —3 / |
B \ W=mg | .

3T p15L0 o
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20cm |\ 50cm /I\ 40cm /30cm >\
A B
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Fx=0 > Ax=0X%
Fy=0X — Ay+By-4-3=0— Ay+By-7=0

2 MA=0 —>-4x20-3x70+Byx110=0 —5110By=210+80=290
—By=290/110 —By=2.6kN

Ay+By-7=0 —>Ay+2.6-7=0 —> Ay=7-2.6 —>Ay=4.4kN
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Shape T v Area
Triangular area % 3
2
Quarter-circular st A =
area % o ¢
Semicircular area 0 = -2
3r 2
Quarter-elliptical 4a 4b zab
area d * *
Semielliptical 0 4b zab
area * .
Semiparabolic 3a 3h 2ah
area 8 5 3
Parabolic area 0 ¢ =
5 3
Parabolic 1 & % %
spandrel 4 10 3
n+l n+l ah
General spandrel n+2’ 4n +2 n+l
Circular sector 2";" - ¢ ot
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80 mm

60 mm

60 mm

Component A, mm? X, mm ¥, mm XA, mm? yA, mm®

Rectangle (120)(80) = 9.6 x 103 60 40 +576 x 103 +384 x 103
Triangle 4(120)(60) = 3.6 x 10° 40 =20 +144 x 10° —-72 X 103
Semicircle 3m(60)%® = 5.655 x 10? 60 105.46 +339.3 x 103 +596.4 x 103
Circle —7(40)> = —5.027 x 10® | 60 80 —-301.6 x 10® —402.2 x 10°

SA = 13.828 x 10°

SxA = +757.7 X 10°

SjA = +506.2 X 10°
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_ ¥4 +757.7x10°mm?>
T4 _
>4 13.828 x10° mm*

X =54.8mm

7_ ¥4 _+506.2x10°mm’

Y4 13.828 x103 mm?

Y =36.6mm




